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Diesel oil Fuel oil Lubricating 0il | Kerosene oil | Which is used as jet fuel?
Nat! SOZZ Mg+2 Ca*? o vf‘_-atﬂ(mJJgiJ%)bﬁfo 2
Which ion does not cause hardness,in water?
Ao | Ao | Auagr | Aear |Selngd/Sditdie b ard Al irezss| 3
Sulphonic acid Rapid growth of algae.in water bodies is because of
Phosphate salts | Sulphate salts salts Carbonate salts detergents having;
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11 kilometer | 15 kilometer 35 kilometer .‘m ' About 99% atmosphere's mass lies within:
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U.?L-/ < £ Build brain U'.""—-/ = Provide energy | Vitamins are accessory growth factors. They play
Regulate cells InsulatcOur body | to the body |important role in our body like:

metabolic process from electricShock
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HBr<HC{ | HCL > HBg HBr > HI HI>HBr e order of reactivity of hydrogen halides with
; alkenes is:’
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H-C-H [€H;-C-H | CH3-C-OH Formula of acetaldehyde is: q]
g Y asd 0 e bt son 2L g Kadi90 LS| 10
Bituminous Anthracite Lignite Peat Coal having 90% carbon content is called: i
HSO_I HSO_] S..z So—z ?—L}fﬁ'rff({liﬁP 11
y 4 . Which ion is the conjugate base of sulphuric acid?
U;.JK CaO LJJ/[)/ COZ ;_-,HJ CaC03 thLJK/f-/;’ f—)’Jé—ﬂL}{CC}:{[dfgérJUc&qJé—-’: 12
Ca0 is not bl b f?:’[zf' ¥ CaO of high In the lime Kiln, the reaction goes to complete because:
wr dissociated C02 escapes Ca0 is more temperature C3C03 — CaO + COZ
A continuously stable than
CaCO;
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10  Write short answers to any FIVE parts. -éukli/‘#ﬁov l&k:.[j)/
Why at dynamic equilibrium state reaction does not stop? "l/,fu"( u.d/ L}'( |L$J/|.-¢/( /d:f U(bf: (i)
Complete the equations: (1+1) (i) CaCOs=___+_____ (i) Hy+1; — a+1) -._;‘,{();ubl/ (ii)
Define the aromatic compounds. Give its example. (1+1) (1+1) Z.)dhsl'r!: i ;&}ibf.ﬁul (iii)
Define the functional groups. Give an example of ketonic group. (1+1) i:di/.f J...u):fr’:slcﬁ’:._d /U/ u{,,)’ Jﬁ (iv)
How alkyl radical is formed? Ut d.dr dg MJ’ g (V)
Define the isomerism and give an example. (1+1) (1+1) -é:;dt‘aﬂg;..gﬂr;/r’f (vi)
Write the structural formula of glucose and fructose. (1+1) (1) &SR 65355s¥  (vii)
Differentiate between monosaccharides and oligo saccharides. (1+1) (1+1) c‘:uhufgﬂzbf/‘:asbsb l‘/(’):’ (viii)

10  Write short answers to any FIVE parts. -QUUI/"L;I? lélc:.(jf
Prove with chemical reactions that water is an amphoteric species. ‘-‘q_‘.}_bf/..‘ 4L dg fg‘;": -.f.i“c_.r‘g id/;ﬁ‘! 6]
Write two uses of sulphuric acid. SO S Y YIS gl (1)
Write uses of chloroform and carbon tetrachloride. ..gf:} ,;.:.IJWIL},?I»KI % uf.r(;slr:l.iw( (iii)
How are alkyl halides reduced? ety bl G ()
Define ores. Write names of any two ores of copper. _«iarl:émln(jfd’/( .-.’;(J/’&»f v)
How are slag and matte removed from blast furnace? g_t'bl/bxbc’./:(dnlﬂa.gf Pislk (Vi)
Give the reaction for recovery of ammonia in Solvay's.process. & U_L’ 1581 d.uf ;J LI J'JL@..:'L/ (vii)
What is composition of petroleum ether? Givé'its onguse: _HL"" J'."L.f (¥ "c. U’Lﬂ ufd/f F#.-/-' (viii)

10  Write short answers to any FIVE parts. -Jubli/sﬁyfi’létc.df
What is ozone layer and where is it foufid? (1+1) (1+1) v¢_dwtuu§,l§_u’/umr (i)
How many types of air pollutants arethere?” Write their names. (1+1) (1+1) TJL(LJIL}%HZJ% Zin (i)
Write any two effects of global watming. (1+1) (1+1) @l LB E i)
How are the sulphur coriaining @ompounds emitted naturally? Ut d_n&ubé &3 l;IZ. /L‘{n"d;» (iv)
How do the pesticides dnd fértilizers cause water pollution? (1+1) (1+1) St s KT P i F ()
Which salts are responsible for permanent hardness of water? T@&ag{f}:}%{l{d&dﬁl/df (vi)
Write two physical properties of water. (1+1) ' (1+1) -2?&“&1‘56-‘;:&(: (vii)
Why hard water hampers the cleaning action of soap? _ _ ?.;._tﬁéggasbﬂuz.rdfﬁi.ﬁﬁoﬁbakﬁ (viii)

-L/,E'/'I} 09 LJI://: -éﬂ/}ak&&aﬂ&»;&f pagd daa
Part - I, Attempt any TWO questions. Each question carries 09 marks.
3+1+1 ettt ~Z OIS Supt ()

What are vitamins? Name their types. Give importance of the vitamins.

2+2 éﬁ/l._,/fr‘/d;(lig‘:/{id;&/d'p;y (u)

Write equilibrium constant expressions for the following chemical reactions:
Hyg, + g = 2Hlg ; Nag +3Hyq = 2NHs

sx1 Write uses of any five bases. -é/fui}WIC’:/.éLJJ/ ()

3+1 Define hard water Give disadvantages of hard water. _g‘ggfathﬂﬁxbu -é:"...y/’g;/buk (&)

3+1+1 ..éu{/dpféd.fl?(!bduu/"f LEJ! ?g.l;‘/gxg ()
What is urea? Describe its raw material and steps for the preparation of urea.

4x1  Write any four physical properties of alkanes. ,éffuuﬁd"ig@f‘f}l (_.,)
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